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Solving Polynomial Functions with Various Factoring Methods

Directions: In your groups of 3 -4 people, go through this packet working on one round at a time. Make sure everyone

in your group understands the problems as you go! Use academic vocabulary throughout the activity and take time to
have collaborative discussions.

Academic Vocabulary terms:

These are terms that you should be using when having discussions with each other.
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Quadratic Formula: Sum/Difference of Cubes:

Sum: a®+ b3 = (a + b)(a? — ab + b?)
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Diff: a®— b3 = (a—b)(a? + ab + b?)
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